tkE KEEEHBRREHE -HRE-BRED)DREKR

(FEOBIEIXEE TRERM)
BEAYL RAKUKEEREERTER])

No. g = B HiZ{E H21.6.3] H21.10.7
HWZVFEVRUZDIEEY mg. /| 0015 F 0.001 0.001
1=y ILRUZDIEEY mg. /| 0.01LLF 0.001 0.001
J|HIHEER mg. /| 0.05LLF 0.002 0.002
ADRIEED (2—TF)LAF)L) mg./| 0.1LLF 0.005 0.005
5|07 +kk=kJJL mg | 001LLF 0.001 0.001
6l3@/koO5—)L mg. /| 0.02LLF 0.002 0.002
7| ER R ER mg. /| 20LLF 0.5 1.6
gl1,1,1—kyyonTR> mg./ | 0.3LLF 0.001 0.001
IBIVAHVEN)DLEES mg. | 3LLF 5.4 8.3

10| R 558 EE (TON) 3LLTF 1 2

NEBEGUYITER -1~0 -2.78 -2.94

2| RKEXEHME 200/mlLL T 4200 2800

BEAYL RK[IEERE]
1| KR MPN/100m| 8 8
2BERIEFEE CFU/ml 0 1
FH)II RK[KEEEEHERTFER]

No. ] B B I HiZE H21.6.3 H21.7.1] H21.10.7
HWZVFEVRUZDIEEY mg. /| 0015 F 0.001 0.001
2[0SV RUZEDIEEY mg. /| 0.002LLF 0.0002 0.002
=T ILRUZDIEEY mg. /| 0.01LLF 0.001 0.01
A|HHREER mg. /| 0.05LLF 0.030 0.005
5|2%)LEED (2—TF)LAF)L) mg./| 0.1LLF 0.005 0.005
6|07 +r=kJJL mg | 001LLF 0.001 0.001
713Kko05—)L mg | 0.02LLF 0.002 0.002
8| B Bl ix B mg. /| 20LLF 0.9 0.5
ol111—kyyonTR> mg./ | 0.3LLF 0.001 0.001

0BV AVBAIDLEES mg. /| LT 5.8 43

11| RXGRE (TON) 3LLTF 1 1

R|EBEGUSTITER) —-1~0 -0.96 -0.80

BIREXEME CFU/ml [ 200/mIELF 28000 13000

R RAKIEER-VIVTRRARYSHL-CTFILST]
1| KBRE MPN/100m| 2K 49
2BERIEFEE CFU/ml 1 3
3|VVTRRKRYS L & Of&E/10L
AOTILTT & 0f&/10L
LKEHKEKEEEHEETFEE] e AHISE KLU

No. ] B B I HiZE H21.6.3 H21.7.1 H21.8.5
HTZoFEVRUZDIEEY mg./| 0.015LLF 0.001 0.001 0.001
2l RUEDIEEY mg./| 0.002LLF 0.0002 0.0002 0.0002
|I=wT ILRUVZDIEEY mg./| 001LLF 0.001 0.001 0.001
A|HAHREER mg. /| 0.05LLF 0.002 0.002 0.002
5|7%)LEED (2—TF)LAF)L) mg./| 0.1LLF 0.005 0.005 0.005
6|>yO0O07tr=kJJL mg./ | 0.01LLF 0.003 0.003 0.001
7|3k 05—)L mg./ | 0.02LLF 0.006 0.008 0.006
8|5z Bl ix B mg. /| 20LLF 2.2 14 0.9
ol111—k)HOoOxTR mg./ | 0.3LLF 0.001 0.001 0.001

0B AVEBADLEES mg. /| LT 1.8 2.2 0.9

11| RXGRE (TON) 3LLTF 1 1 1

R|EBEGUSITER) —-1~0 -1.68 -1.72 -1.71

B REXEME CFU/ml [ 200/mIELF 0 2 1

LoKEHKE[EFE KEEEEHERTFER13%] BE  AHJISE FHII2E

No. I8 =] B I HiZE H21.6.3 H21.7.1 H21.9.2

i=E3 DI 1UTF 0.014 0.27 0.0098

1/1R=




